

$$\begin{aligned}
 (1) & \begin{cases} u_{tt} = a^2 u_{xx}, & 0 < x < l, t > 0 \\ u(x, 0) = \varphi(x), \\ u_t(x, 0) = \psi(x), \end{cases} & 0 \leq x \leq l \\
 (2) & \\
 (3) & \begin{cases} u(0, t) = u(l, t) = 0, & t > 0 \end{cases}
 \end{aligned}$$

$$(8) \quad u(x, t) = \sum_{n=1}^{\infty} u_n(x, t) = \sum_{n=1}^{\infty} \left(A_n \cos \frac{a n \pi t}{l} + B_n \sin \frac{a n \pi t}{l} \right) \sin \frac{n \pi x}{l}$$

$$A_n = \frac{2}{l} \int_0^l \varphi(x) \sin \frac{n \pi x}{l} dx, \quad n = 1, 2, \dots$$

$$B_n = \frac{2}{a n \pi} \int_0^l \psi(x) \sin \frac{n \pi x}{l} dx,$$

$$(*) \quad L u = 0, \quad u_1, u_2, \dots \quad L = \frac{\partial^2}{\partial t^2} - a^2 \frac{\partial^2}{\partial x^2}$$

$$\sum_{n=1}^{\infty} u_n$$

$$u(x, 0) \stackrel{(8)}{=} \sum_{n=1}^{\infty} A_n \sin \frac{n \pi x}{l} = \varphi(x)$$

$$u_t(x, 0) \stackrel{(8)}{=} \sum_{n=1}^{\infty} B_n \cdot \frac{a n \pi}{l} \cdot \sin \frac{n \pi x}{l} = \psi(x)$$

$$T'' \cdot X = a^2 X'' \cdot T$$

T''

$$u_{tt} = a^2 u_{xx}$$

$$u(0,t) = u(l,t) = 0$$

$$u = X(x)T(t) \neq 0$$

$$\frac{T''}{a^2 T} = \frac{X''(x)}{X} = -C$$

$$X''(x) + CX(x) = 0$$

$$X(0) \cdot T(t) = X(l) \cdot T(t) = 0$$

Вынужденные колебания струны с жестко закрепленными концами

$$(1) \quad u_{tt} = a^2 u_{xx} + f(x,t), \quad 0 < x < l, \quad t > 0$$

$$(2) \quad u(x,0) = u_x(x,0) = 0, \quad 0 \leq x \leq l,$$

$$(3) \quad u(0,t) = u(l,t) = 0, \quad t > 0$$

$$(4) \quad u(x,t) = \sum_{n=1}^{\infty} T_n(t) X_n(x) = \sum_{n=1}^{\infty} T_n(t) \cdot \sin \frac{n\pi x}{l} \rightarrow (1)$$

$$\checkmark \begin{cases} X''(x) + CX(x) = 0 \\ X(0) = X(l) = 0 \end{cases} \quad X_n = \sin \frac{n\pi x}{l}$$

$$\sum_{n=1}^{\infty} T_n''(t) \sin \frac{n\pi x}{e} = a^2 \sum_{n=1}^{\infty} T_n(t) \left(-\left(\frac{n\pi}{e}\right)^2\right) \sin \frac{n\pi x}{e} + f(x, t)$$

$$\sum_{n=1}^{\infty} \underbrace{\left(T_n'' + \left(\frac{an\pi}{e}\right)^2 T_n \right)}_{f_n(t)} \sin \frac{n\pi x}{e} = \underbrace{f(x, t)}$$

$$f_n(t) = \frac{1}{\|X_n\|^2} \int_0^e f(x, t) X_n(x) dx$$

$$T_n'' + \underbrace{\left(\frac{an\pi}{e}\right)^2}_{\omega_n} T_n = \underbrace{\frac{2}{e} \int_0^e f(x, t) \sin \frac{n\pi x}{e} dx}_{f_n(t)}, \quad t > 0$$

$$(4) \rightarrow (2): \quad u(x, 0) \stackrel{(4)}{=} \sum_{n=1}^{\infty} T_n(0) \sin \frac{n\pi x}{e} \stackrel{(2)}{=} 0 \quad \Rightarrow \quad T_n(0) = 0 \quad \forall n$$

$$u_t(x, 0) \stackrel{(4)}{=} \sum_{n=1}^{\infty} T_n'(0) \sin \frac{n\pi x}{e} \stackrel{(2)}{=} 0 \quad \Rightarrow \quad T_n'(0) = 0 \quad \forall n$$

$$(5) \quad \begin{cases} T_n'' + \omega_n^2 T_n = f_n(t), & t > 0 \\ T_n(0) = T_n'(0) = 0 \\ n = 1, 2, \dots \end{cases}$$

$$T_n'' + (\omega_n)^2 T_n = \underline{f_n(t)}$$

$$1) \quad \lambda^2 + (\omega_n)^2 = 0, \quad \lambda = \pm i\omega_n, \quad \cos \omega_n t, \sin \omega_n t$$

$$T_n^{\text{ogh}}(t) = A_n \cos \omega_n t + B_n \sin \omega_n t$$

$$2) \quad T_n(t) = A_n(t) \cos \omega_n t + B_n(t) \sin \omega_n t \quad (*)$$

$$? \quad \left\{ \begin{array}{l} A_n'(t) \cos \omega_n t + B_n'(t) \sin \omega_n t = 0 \\ -A_n'(t) \omega_n \sin \omega_n t + \omega_n B_n'(t) \cos \omega_n t = f_n(t) \end{array} \right. |$$

$$(6) \quad T_n(t) = \frac{1}{\omega_n} \int_0^t f_n(\tau) \sin \omega_n(t-\tau) d\tau, \quad n=1, 2, \dots$$

$$(6) \rightarrow (4)$$

$$(1) \quad u_{tt} = a^2 u_{xx} + f(x, t), \quad 0 < x < l, \quad t > 0$$

$$(2) \quad \begin{aligned} u(x, 0) &= \varphi(x), \\ u_x(x, 0) &= \psi(x), \end{aligned} \quad 0 \leq x \leq l$$

$$(3) \quad \begin{aligned} u(0, t) &= \mu(t) \\ u(l, t) &= \nu(t) \end{aligned} \quad t > 0$$

1. (4) $u(x, t) = w(x, t) + v(x, t)$, $w(x, t)$: $w(0, t) = \mu(t)$, $w(l, t) = \nu(t)$ (5)

$$w(x, t) = A(t)x + B(t) \quad (*)$$

$$w(0, t) \stackrel{(*)}{=} B(t) = \mu(t)$$

$$w(l, t) \stackrel{(*)}{=} A(t) \cdot l + \mu(t) = \nu(t)$$

$$A(t) = \frac{\nu(t) - \mu(t)}{l}$$

$$(6) \quad \boxed{w(x, t) = \frac{\nu(t) - \mu(t)}{l} \cdot x + \mu(t)}$$

2.

$$(4) \rightarrow \begin{matrix} (1), (2) \\ (3) \end{matrix}$$

$$w_{tt} + v_{tt} = a^2 (w_{xx} + v_{xx}) + f(x, t)$$

$$(1') \quad v_{tt} = a^2 v_{xx} + \underbrace{f(x, t) + a^2 w_{xx} - w_{tt}}_{\parallel f_1(x, t)}$$

$$w(x, 0) + v(x, 0) = \psi(x) \rightarrow v(x, 0) = \underbrace{\psi(x) - w(x, 0)}_{\parallel \psi_1(x)}$$

$$w_t(x, 0) + v_t(x, 0) = \psi(x) \rightarrow v_t(x, 0) = \underbrace{\psi(x) - w_t(x, 0)}_{\parallel \psi_1(x)}$$

$$\underbrace{w(0, t)}_{\parallel g(t)} + v(0, t) = h(t) \rightarrow v(0, t) = 0$$

$$\underbrace{w(l, t)}_{\parallel g(t)} + v(l, t) = v(t) \rightarrow v(l, t) = 0$$

$$3. \quad (7) \quad \begin{cases} v_{tt} = a^2 v_{xx} + f_1(x, t), & 0 < x < l, \quad t > 0 \\ v(x, 0) = \varphi_1(x) \\ v_t(x, 0) = \psi_1(x) & 0 \leq x \leq l \\ v(0, t) = v(l, t) = 0, & t \geq 0 \end{cases}$$

$$(8) \quad v(x, t) = \sum_n T_n(t) X_n(x) \approx \sum_{n=1}^{\infty} T_n(t) \sin \frac{n\pi x}{l} \rightarrow (7_1)$$

$$\omega_n = \frac{a\pi n}{l}$$

$$\sum_{n=1}^{\infty} (T_n'' + \omega_n^2 T_n) \sin \frac{n\pi x}{l} = f_1(x, t)$$

$$(9) \quad T_n'' + \omega_n^2 T_n = \frac{2}{l} \int_0^l f_1(x, t) \sin \frac{n\pi x}{l} dx, \quad t > 0 \quad (10)$$

$$(8) \rightarrow (7_2): \quad v(x, 0) = \sum_{n=1}^{\infty} T_n(0) \sin \frac{n\pi x}{l} = \varphi_1(x)$$

$$T_n(0) = \frac{2}{l} \int_0^l \varphi_1(x) \sin \frac{n\pi x}{l} dx = \varphi_{1n}$$

$$v_t(x, 0) = \sum_{n=1}^{\infty} T_n'(0) \sin \frac{n\pi x}{l} = \psi_1(x),$$

$$T_n'(0) = \frac{2}{l} \int_0^l \psi_1(x) \sin \frac{n\pi x}{l} dx = \psi_{1n}$$